CGP-

et w97 9=/ Question Paper — I
ULIRIT/ Aptitude Test

(Sub Code - 02)

Booklet
Serial No.

975133

SETA

e s B Wt

Seal of Superintendent of Examination Centre

whernfial g e ool aigue U9 & 9 9™ |

To be filled by Candidates by Black Ball-Point Pen only.

IF-3M1T 1 HHR
Sr. No. of Answer Sheet

O

-

Al S

g\

O

Lyl 2 N3RS

' gl \
%M ROLL No.
LR
; w.m\h Declaration :
feren o TEIER wiemefi & wEATER

(Signature of Invigilatory .5 ....
e T A ¥
{Name of Invlgilatorf %Hﬂ V’q MJ '4/}

Ertbikakeie)

(Signature of Candidates) ..

(Name of Candidates)

Ty ; 1 Fiw 3 & Sy = T e anw o ®

| have read and understand the directions gwen below.

e EEaslalk
;V@\\ G'IO,(@\AQ}}.(TM&) ?) L0. ?m

gferet # st i de

Number of Pages in Booklet

32

gﬁwﬁnﬁﬁu@n

Number of Questions in Booklet

it

Total Marks

100 2
Time

200

Hours

1.

INSTRUCTIONS FOR CANDIDATES
Candidates are allowed time to fill up the basic information
about themselves in the OMR sheet such as Name,
Roll No., etc.
After this, Question Booklet will be given to the candidates.
Tally the number of pages alongwith no. of questions printed
on cover of the booklet. In case of any discrepancy please
get the booklet changed immediately.
Answering of question is not allowed in the given extra time.
Two hours time will be given for answering.
On Answer Sheet, supplied to you write/put Roll No., Question
Booklet No., Set of Question Booklet (A, B, Cor D), Name of
Candidate, Signature of Candidate, Date of Exam., in Black
Ball Point Pen.
On Answer Sheet fill in your Roll No., Question Booklet Set
and Centre Code etc. by darkening carresponding
circle O with Black Ball Point Pen.
On Answer Sheet only the answers {o questions are to be
marked. The instructions for this are available on the back
cover page of this Question Booklet.

(a)

(b)

©
(@

(b)

(©)

. Optical Mark Reader {OMR) machine prepares the result by reading

the entries made in the circles Q with the Black Ball Point Pen on
the Answer Sheet, hence the candidates must be extremely
careful in marking these entries and must not commit errors.

. Please do not write / mark on Answer Sheet anything extra

except what is asked for.

USE OF ANY CALCULATOR, LOG TABLES, MOBILE PHONE
ETC. IS PROHIBITED.
Rough work should be done on tha blank pages or in the space
provided for this on each page of this Question Booklet. Extra
paper will not be supplied.
if there is any sort of mistakes/discrepancy (In Hindi or English
Version of the question) either of printing or of factual nature
then regarding this Commission's decision will be final.
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1. YREITEh He T 3639 FEGI 0 1. Interpersonal skills aim at improving
IRFAITE o job performance and making the
eI S ¢ | ____amore valuable asset.
SRERIEN a) Employer
b) =T Employ}ee
c) UTesh ¢) Customer
d) STt d) Doctor
e) S § | I3 el e) None of the above

2. fr=fafiga § @ w1 arzufes sntwre &1 2. Which of the following is not a part
o7& & 7 of interpersonal skills ?

a) gfdg=A a) Feedback

b) fervama b) Trust

c) U c) Expectations
d) Hed d) Values

e) 3T e) Rigidity

3. Qaﬁmaﬁ'&ﬁg{ eaq?maaﬁﬁ_ 3. A successful team leader expects
Y F ®9 § TrEdr 2 his team members to be
a) ST listeners.

2o ..
c) WA gﬁ\cti,\fe

d) FIEHT 2T d) Marginal

e) S | Ig el e) None of the above

4, ST R AT o I HT FUN0T 4. The transmission of the receiver's
e © | response to the sender is called
a) o1 a) Language
b) 9T b) Speech
c) AT ¢y Feedback
d) IU= d) Decoding
e) SYIrE H hig el e) None of the above

CGP-15-02* Page No. 4 Set-A
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5. GeT WA % gE s 2
) Taw
ll) 3R

My e

IV) eefieg

a) I, I3ty
b) 1, =TI

o) 11, a1V
d) 1, SRV,
e) I gt

6. Frud=sR sifiafa “am srfighy”
et 2 7
a) W& SR AT Y B S 2 |
b) # ueh! Gferd AT ween € |
C) Y ST SFE=TaT 20 |
d) H&¥ HATUk] FATd B e TH= 2

I

e) B9 3! fogera o fora 2

7. qmaﬁaﬁﬁ%@a’%aﬁ@u‘iéﬁﬁa
FHTHIV 5 ; 35 &1 7T BT 7

1
a) -402
1
b) 462

c) 42—;-"

d) 43°
e) 394 4 &5 el

R
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5. The important.components of
communication environment are :
[) Message
Il) Response
Iy Channel
V) Telephone

Choose the correct code :

a) I, lland IV
b) I, lland (1l

c) I, Ul and IV
d) I, llland IV

‘QQ/AII of the above

6. Which of the following expressions
shows “You attitude” ?
a)ham very happy to inform you.,
b) I want to inform you.
€) You would be happy to know.
d) It gives me immense pleasure
to inform you.

e) We have appointéd you.

7. What will be the angle between the

minute hand and hour hand of a clock
when the time is 5: 35 ?

1°
a) 402

1
b) 46

1°
c) 422

d) 43°
one of these
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8. =1 X =1 gdi faswey B |

a) 18

b) 19

g) 15

d 14

e) 3 & whig el

‘?" % T W o gEn g |
2] 1] 2
13 11 6
153|120 ?
a) 32
b) 45
c) 16
d) 48
e) T ¥ &g &l

qg 10 -11:®: @A, B,C, D, E3RF

T A U @S B, 9 T g & S i gei

CERE

B,C % ¥®, W C, Fa& free adi 2
D e Tl W g a2 C & o eIF g 7
A EdFFdfawEs 2|

8. Correctreplace of Xin the following is

a) 18
b) 19
c) 15
d) 14
e) None of these

The missing number in place of
“Pis

o 11 2
A3 1 11 4
1531120} 7

o

) 32

b) 45
c) 16
d) 48
e) None of these

Q. No. 10— 11 : Six persons A, B,C, D, E
and F are standing in a row, one behind
the other in the following way :

L

B is behind C, but C is not near F.

D is at one of the ends and three
places away from C. '

A is between E and F.

10. Cd=AE 10. C is between
a) BIE® Band E
b) BAD¥. b) B and D
c) BaF% c) BandF
d) AdB% d) Aand B
e) Eﬁﬁaﬁéﬁ e) None of these
CGP-15-02* Page No. 6 Set-A
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11, DIRTH SRR A TR SR ET R ? 11. Dis at one end, who is at the other
a)F ?’-’
F
b) C
¢ E g
¢} E
d A d) A
e) ¥4 § *I3 el e) None of these
12, &1 &=H, o et T 91 B o i 15 01 12. Two oranges, three bananas and four
21 o R, A 9 O w10 wU apples cost Rs. 15. Three oranges,
firern 2 | 3t 3 T=t, 3 99 9 3 B A two bananas and one apple cost
; ’ ‘Rs. 10. Amit bought 3 oranges,
fer-ft sl eRTUIT | 3 bananas and 3 apples. How much
a) ® 10 will Amit pay ?
b) ®. 15 a) Rs. 10
c) %. 8 b) Rs. 15
5‘ ] c) Rs. 8
d) . T Jﬁfﬁw el gd)/Cannot be determined
e) ¥ ¥ IS T g) None of these
13, Fremsrsht afeenfiar & o d0 & 8 gew 13. - Ateamof8 persons joins in a shooting
B ol =0 femers Y 85 3t st competition. The best marksman
foru | ofe = 92 s 1fia war ot A scored 85 points. If he had scored
1 3T 84 3% o | ?ﬁq L 92 points, the average score for the
s team would have been 84. The number
a) 665 of points, the team scored was
b) 656 a) 665
b) 656
c) 566 ¢) 566
d) 645 d) 645
e) g8 4 HIE 7E e) None of these
14. o 3T 190 136 2 | 1f2 wom 7 iy 14.  The sum of three numbers is 136. If
aq’qﬁ 1 3T 2 : 3 qe fadflg v qei the ratio between first and second be
St I 5 : 3 2, A fichty of 3 2 : 3 and that between second and third
a) 48 ! is 5 : 3, then the second number is
b) 72 a) 48
b) 72
c) 66 c) 66
d) 60 9y 60
e) T8 ¥ i 7E e) None of these
CGP-15-02* Page No. 7
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15. IRk 5% =3125, dt 5@~ s oM 2 15. If 52 =3125, then the value of
a) 625 | 5% 73ig '
0 5 25
c) 5
d) 225 d) 225
e) T ¥ s A e) None of these
16. = 1 Heq 20% sg1 a1 51 § | O 16. The price of tea being increased by
=afdg A = A @I 20% FH H 20%, a man reduces his consumption
a1 8, o1 34 safa o fohan gfisa @< by 20%. By how much percent will his
= 9T T ? expenses for tea be decreased ?
a) 4% a) 4%
b) 5% b) 5%
c) 6% c) 6%
d) 20% d) 20%
e) i ¥ I3 7 e) None of these
17. Torelt aeq o1 He 2o Wiea Hed 616 3. 17. The sale price of an article including
2 | O 390 il W 10% © | A% gFrer the sales tax is Rs. 616. The rate of
12% @ 3R T & d g 1 AT sales tax is 10%. If the shopkeeper
e 2 has made a profit of 12%, then the
a) 560 cost price of the article is
b) 600 a) 560
b) 600
¢) 500 c) 500
d) 525 d) 525
e) 1 & =wig &l e) None of these
18. 2,430 % % A, B @ C # 3§ YR 18. An amount of Rs. 2,430 is divided
e T sraT & 6 oft ok e Y between A, B and C such that if their
A 5, 10 991 15 %, &9 = g 9, shares be reduced by 5, 10 and 15
5= §§ ofe = T 3:4: 5 B rupees respectively, the remainders
379 B w1 Ry A st?all be inthe ratioof3:4:5. Then,
a) 880 Q \o B's share was
b) 780 dysten |, 8) 98
=% b) 780
c¢) 800 c) 800
d) 1,000 d) 1,000
e) T & &5 T &Y None of these
Page No. 8 Set-A
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19. U 3heR G HH i 40 fai § quf shta 19. A contractor undertook to do a piece
2l 3@ wd & faw a8 100 sefEi & of work in 40 days. He engages
3 & aer 100 3R |t =1 35 e 100 men at the beginning and
I8 TmER i T FE 1 e 9t qo 100 more after 35 days and
T 2| afk 9w st sehE # 1 completes the work in stipulated time.
T @) vE B ) Rhad ai R T If he had not engaged th.e- additional
4 7 man, how many days behind schedule
' would it be finished ?
a) 5 a) 5
By & b) 4
c) 3 c) 3
d) 7 | d) 7
e) 39 & WIS el e) None of these
20. o0 Us M & 10 KA g @ 15 fa # 20. Aruncando a piece of work in 10 days;
qul ST TehaT & | 9% a1 T |1y 5 T Ramesh in 15 days. They work
F& # 3, v Fe Ry ¥ 2 R F ool together for 5 days. The rest of the work
forr | afe 3 e qof @ 3. 1,500 was finished by Naresh in 2 days. If
frg i & =1 ey e e B 3 ’ﬁ'@ they get' Rs. 1,500 for the whole work,
the daily wages of Ramesh and
& Naresh are
a) 250 a) 250
b) 275 b) 275
c) 225 c) 225
d) 200 d) 200
e) 79 ¥ HIg T e) None of these
21. U g@HMER % 918 1000 kg =i 8, frad 21. A merchant has 1000 kg of sugar,
T S AT 8% T R 791 Y 9 18% part of which he sells at 8% profit and
o SIS T ST R | 38 FA 14% 1 &A™ the rest at 18% profit. He gains 14%
&I 8 | 18% W WX syl 718 <At ot A on the whole. The quantity sold at
il 18% profit is
a) 610 kg a) 610 kg
b) 620 kg b) 620 kg
c) 600 kg c) 600 kg
d) 630 kg 'd) 630 kg
e) FH & HIg T e) None of these
CGP-15-02 * Page No. 9 Set-A
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s 22 - 25 : Tadw : Ffafea smee i
@ﬁ%/ﬁ%ﬁéﬁnwélmé afe
a)mimﬁaﬁmmw%
had 1l st fre St warar 2
c) | w9t 11 ST srganfa o st gerar 2 |
d)m?ﬁlmllﬁ:ﬂ‘ﬂﬁﬁﬁmm
Tl 2 |
e) AT 19 & 1l =R s far s
HohAT ¢ |

ag=es : 9 gf =1 v @ Toamr o
e T IUANT HIA] 2 T8 3T Hforna w1 Rt
FA § qUT IR WESATIR W ) et
STRTESHT @ | U U2 o) &0 aun arqiatd
=T AT € 3%k SArehed 1 Hifersh SUR R
I B 34 U o TAeTaT o TAU ST Teres
2 | v fFR ga o7 e gemeehia uss w
el & et Tmeleifes som g aRts st v s
o, W T T % G e I & R
FE 37U IS hIcTH ohl SR T e
w |

22. ) G AT YTE HefRTAl o HaeH w
e HETAdT htal |
1) T 1 WaTe ArEfior S s agrdt Ae
FAT 2 |
23. ) GHITGEHIA U8 S HHEITST 1 wias
Fryffer swar 2
Il) EFITEehTT I3 Sharel S GRS ST
iy Ged LT @ |
24, i)wg@mwm%l

1) e =8 g e & R et
2% 98 8 AaeH #x )

For Q. No. 2225 : Directions: A passage
is followed by some arguments conclusions.
Decide whether _

a) Only | can be inferred.

b) Only Il can be inferred.

¢) Bothland Il can be inferred.

d) Eitherlor Il can be inferred.

e) Neither | or Il can be inferred.

Passage : The wisdom with which the
voter uses his ballot is determined by his
individual intelligence and how well he
keeps himself informed of public affairs.
The free and uncensoredflow of information
in a country is fundamental of its democracy
and of unestimable aid to its voters. While
an individual news organ may take a
positiononene side or the other of a public
question oh the editorial page, the tradition
of the country’s press has been to contihue

news columns to matter of fact.

22. 1) Free flow of information helps a
voter to exercise his vote
judiciously.

) Flow of information does not
help rural people.

23. ) Editorial page decides the fate of
a public question.

Il) Editorial page can only eliminate
Q’ the fate of a public question.

24.@!) Voting is a measure of intelligence.

1) Intelligence of the voter fully
determines how the voter casts
his vote.

CGP-15-02*
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25. 1) SHTER 93 Haewdl @ HaeH ESE R 25. 1) The newspapers affect the
qarfad @ 21 _ - - voting behavior of voters.
a o I) The newspapers do not affect
1) TITefioT $TRE o HeIRTAT < HAGH ohl SRR the voting behavior of voters in
TR 95 goTfad el o T | rural India.
woT 26 — 28 : Ty ; few e uww A w A For Q. No. 26 — 28 : Directions : In the
s & fywpa] o1 aehaTd | question below one statement is followed
F e 3 b EAL A by two conclusions. Examine the logical.
e FE I | applgcations of fthe conclusions ﬁnd |
' ' ﬂa'q"ﬁa ; decide which of the answer — choices is
al.) ﬁ o %%l correct. Write
b) = I ﬂﬂ"ﬁ% | . a) Il s inferred,
c) | e i sraTiHa 2 | b) Ifllisinferred.
' _ c¢) If both | and Il are inferred.
d) R | il S E | d) If either | or Il is inferred.
g) AR A T Il IgAHAR | e) If neither I nor Il is inferred.
| 26. YA : 26. Statements:
A) Fig= T Ieq LT 2 | A) Conflicts in mind create tension.
B) r<ige o1 frramur we A Sraeen B) Resolution of conflict leads to
FadE el good ntental health.
o Conclusions :
: % 3 ' o I) One becomes very hefty and
) & gehU strong by resolving one’s
w9 w9 B | _ - conflicts.
ll) 3753 & GEHNI HESh Y T " 1l) Freedom from conflicts leads to
Ricukd . good mental health.
27. @YA . 27. Statements:
A) i W Fell o1 Ueh Sa9 Eld © | A) Sﬁgﬁgyht is a very good source of
B) &I Fisil oY Tcaifers STREEHAT € | B) There is a great need for solar
: energy.
Fred : 3 : Conclusions :
1) St ger gt & off s foRan s ) Energy can also be obtained from
Al ) ' \ %the}r sources. :
: 1) Coal is a very good source of
[l) SRITAT HA hT =S EI ¢ | energy.
28, w®UA i 28. Statements:
A) FfEHH T HEH AR B ¢ | A) Intelligent people have great
B) et =il =Y siga Sied we o insight.
YT 2| i B) Anil is able to see through things
very quickly. '
Fresd : Conclusions: T
l) i gfeam =) | ) Anil is intelligent.
) =fet TEm =gl = | Il) Anil has great insight.

CGP-15-02* : Page No. 11 ' ' Set-A
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29. =fe Qe w19 ‘add to'; J T 318 ‘multiply

by'; T =1 319 ‘subtract from’; @

K= 319 ‘divided by’ 2 @

30K2Q3U6T5 = ?

a) 31

b) 15

c) 14
d) 28
e) T & F1$ =ef
e 30 - 32 : Fdyr ; fou e sgede F a
# o PR W7l B0 B, 4R o 315 S SR
9 fferfaa o 8 & o | '

a) fafvea wu @ ey

b) "FIfdd ®9 & ¥y |

c) TTiad ®9 & 378 |

d) Ffvaa =9 & 3w |

e) =1 JuAlE

RIREEEREE ciE S HEE E =R E AT

A1 GHE F1 Uk HUR Aqed F o [T 7T
SR | B9 o T i 9 vare 9 s
R TR AR s & wrafies sl @ @
¥l TR T, W e aftasr § sud qyd i
& | Wl @H-u @ IR SR 9 Afear
o ST wehdl & | e i wer whiqul, wem
e wfe ¥ ) sifean wrifes = @ R @
ST E T R ) g B 9 gom & off s

30.  fea H yuf forvame e e safa et
3 wfy gewtes i a2

31. I St IR ST quT e § |
32. .ﬁrﬁ@ﬁw%ﬂﬁmq@mw%r

CGP-15-02*

29. IfQmeans ‘add to’; J means ‘multiply by’;
T means ‘subtract from’ and K means
‘divide by’ then 30K2Q3J6T5 = ?
a) 31
b) 15
c) 14

28

e) None of these

For Q. No. 30 — 32 : Directions : At the
end of the paragraph given below, some
conclusions have been drawn. On the .

~ basis of the study of the paragraph, mark

your answers as under
a) Definitely true
b) Probably true
c) Probably false
dy Definitely false
e) Data inadequate

“Yoga is supposed to lead to some kind of

intuitiveinsightor to a collection of ecstasy.
| have practised a few selected ‘ASANAS'
and some breathing exercises but have not
gone beyond the elementary exercises/
stages of the body and my mind continues
to be a misbehaving unruly member. The
discipline of body, which includes eating
and drinking the right things is to be
accompanied by what the Yoga system
describes as ethical preparations. This
includes non-violence truthfulness,
continence, etc. Non-violence or ‘ahimsa’
is something much more than abstention
from physical violence. It is an avoidance
of malice and hatred.

30. A true follower of ahimsa has no
&~ iil-feelings for anyone.
31, Yoga is only a set of some physical
exercises and asanas.
32. Ethical preparation means eating

% and drinking the right things.

Page No. 12 Set-A
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33.

34.

35.

A 1 @ £ 36 B 3 311 siafad 17 5
% S Tg 22 S & Yeel HARI, Salh
B I w1Vl  foF 24 S7 @ wedl g
20 S % 918 Tt A1 fob FaR e st

CHAE! T Y

a) 2337

b) 22 S

c) 215

d) 17 S

e) s 4 I 7
ffefad wem 2 |

i) S W e 2 |
i) ¥t gy w2 |
Wl F99 T well frend gy
a) gt gEy qyat §
b) @t Tva ey ¥

c) Fefi wig=a e ¥
d) Teft qaT wyer 3

o) THAFE A

e v et & “la pil ta” %1 219 “Fruit
is sweet”, “na sa pil” =T 319} “flower
and fruit”Td “na tee la” & 379 “flower
is beautiful” & ar 3t 4T T “sweet” =
Y B |

33.

34.

35.

A remembers that B celebrated his
birthday after 17" but before 22n9 of
June, while B remembers that the

' birthday was celebrated before 24t

but after the 20™" June. On which date
was the birthday celebrated ?

a) 23" of the June

b) 22" of the June

CY215t of the June

d) 17 of the June

e) None of these

Given the following premises :
i) Every human beings are mortals.
ii) All men are human beings.

Which of the following is the
appropriate conclusion to be

drawn ?
\%il men are mortals

b) All'mortals are men

¢) All human beings are men

d) All mortals are human beings
e) None of these

Ina certain language “la pil ta” means
“fruit is sweet”, “na sa pil” means
“flow.'er and fruit”; “na tee la” means
“flower is beautiful”. In that language

what stands for “sweet” ?

a) la a) la
b) ta o fa
Cc) sa C) sa
d) pil "d) pil
e) 34 & FId 4 i e) None of these
CGP -15-02* Page No. 13 Set-A
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36. ARA10H, B124, ...... FHMGETG

37.

38.

39.

| ot Frafeafaa el welia =8 |
46 50 36 16
a) ANSWER

b) SUNDAY

¢) MONDAY

d) BEAUTY
e) §94 ° w3 &
19 100 7 61 quifes gearsil # 7% 1’
1 WA TRt s gan R 7

a)19

b) 20

c) 21

d) 22

e) T ¥ w3 e

freferfea & =19 o1 wh, s & e 2
(afe &) ? '

Sl A, Jara, feurey, sHed

a) ®Ed

b) wr=

c) feams

d) sHa

e) T ¥ #E 7

10 58

P =1322 x 1325 x 1328 & | P &l 14
# T e ST R | A9k ghT

36.

37.

38.

39.

\Q\.‘

If 10 represents A, 12 represents B
and so on, what do the following
stand for ?

46 50 36 16
a) ANSWER
5y SUNDAY

c) MONDAY

d) BEAUTY

e) None of these

10 58

How many times the digit ‘1’ has been
used in the integers from 1 to 100 ?
oy 19

b) 20

c) 21

d) 22,

e) None of these

Which one of the following is different
(if any) from the other ?

February, March, November,
December, January

«&)y February

b) March
¢) December
d) January

e) None of these

P=1322x 1325'x 1328. P is
divided by 14. The remainder is

CGP-15-02 *

a) 2 a) 2
b) 3 b) 3
c) 6 c) 6
d) 8 | )8
e) 394 U wis 7 e) None of these
Page No. 14 Set-A
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40.

e ferenell 5 yrew &1 %@ Uiehd Gt
I STTed 9 597 1 41 yed fora | se o
3 S AT foh 97 U HEA Siedr o
T 2 | el g3 9 9 © |

40.

A student, while adding first few
natural numbers, obtained the sum
of 597. Later on he noticed that he
forgot to add one number. That
forgotten number is

‘a) 31 ) 31
a
b) 32 a1 58
c) 33 c) 33
d) 34 d) 34
e) 37 ¥ =13 e) None of these
41. aF b% 10% 1 aF AH & 41. b% ofais 10. Value of a is
100 100
0% Ao
1000 1000
< N b
_b_ b
c) 100 c) 100
b QU TANG P
9 J000 9 7000
e) T ¥ =[S el e) None of these
42. fr=afafes & @ <5 @, S @ s 2 42. Which ef the following is different
@kwAS 2 ? (if any) from the other ?
wiwart, &, 7@, Tod, e Candle, Sun, Fan, Bulb, Lantern
a) Ae] a) Candle
b) sea b) Bulb
c) weieH c) Lantern
d) i AiQun
e) 318 & FI3 e one of these
43. Tr=afafes § @ 19 @1, 3= § ofem 2 43.  Which of the following is different
(@ Hggar) ? from others (If there is any) ?
TS, seduuy, smefear ASTH A, Airtel, BSNL, Idea, Vodafone, Tata
T SR Docomo
a) TId a) Airtel
b) sfeguTTet b BSNL
c) amgfea c) ldea
d) ZET SR d) Tata Docomo
e) 38 4 &S I e) None of these
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44. Tefafad ik srdqul sn 4 saaferd
v | i
1) JYrgay
2) fawa
3) ufrn
4) sdiEg
5) geafi
a) 1,2, 83,4,5
b) 5, 4, 3, 2, 1
c)4,1,8,2,5
d)1,4,25, 3
e) 3T © I3 el

45, f=ffaa Soft

52, 26, 78, 39, .... H I 9E & |
a) 104 |
b) 114

c) 115

d) 118

e) T ¥ His el

) fou e el (46 & 50 @eR) H a1 ek feu
e | 3 veal § IR e ey R 6 38 gEEEe
e werr & 3w S |

a. IR T, TW 1 39T 2
b afk <R, et 37 % s ¥
c. AR TH, THL T FHWT 7
d. 3w, g AEwEHa

46. IEEYMI, gHeAT

44, Arrange the following in a meaningful
order :
1) India
2) World
3) Asia
4) Chhattisgarh
5) Earth
a) 1,2,3,4,5
b) 5,4,3,2,1
©/4,1,3,2,5
d) 1,4,2.5 3
e) None of these

45. The next term in the following
series :
52, 26, 78, 39;.... 18
a) 104
b) 114
c).118
d) 118

\9/None of these

In the following questions (from 46 to 50),
there are two words which may have some
relationship with each other. Identify the
relationship and mark your answer as
follows :

a. |If one is the product of the other. |
b. If both are the product of some other.
c. Ifoneisthe cause of the other.

d. Ifone is the need of the other.

46. Negligence, Accident

‘a) a a) a
b) b b) b
c)c %
d) d d) d
e) ¥4 ¥ =g T e) None of these
CGP-15-02 * Page No. 16 Set-A
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47. R, w1
a) a
b) b
¢ &

d) d

e) 37 ¥ I3 Ael

48. G%edl, Hedd

a) a
b) b
c)c

d) d

e) $7H & =g g

49. U™, T

a) a
b) b
o) c

d) d

e) T & WIS el

\)("

50. fafereds, R F;\Q’%

- 47.

48.

49.

50.

Paneer, Butter milk
a) a
b) b
c) ¢
d) d

e) None of these -

Success, Hardwork

o a

e) None of these

Cotton, Thread
a) a

b) b

c)c :

d) d

e) None of these

Doctor, Patient

a) a = '7’(3 A a) a
L <
b) b 4 % b) b
™
¢) 6 c) ¢
d) d & d
e) T ¥ g e 3 e) None of these
CGP-15-02 * Page No.17 Set-A
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Frerfefiea o =t n, foredt frm & s,

51, 51.  Which one of the following is different
HAI G HAT R (AR ? (if any) from the other, according to
: ; le ?
aBEFij, gHKLop, pQTUyz, bCFGik, = R
qRUVyz aBEFij, gHKLop, pQTUyz, bCFGik,
. gRUVyz
z) azi{:" a) aBEFij
) 9 ?p gHKLop
c) bCFGjk c) bCFGjk
d) qRUVyz d) qRUVyz
e) 3T & =S T e) None of these
- 52, TR § ¥ =i @1, 319 § 31 2 52.  Which of the following is different
RIESIIK ' (ifany) from the others ?
e, T, 39, The, Hid Foot, Yard, Inch, Acre, Mile
a) T a) Yard
b) ¥ b) Inch
c) Uhg %Acre
d) d) Mile
e) T & s e e) None of these
53. TrfaRen se-aof § foge =09 w 53. Which letter will appear in the
(?) =TT &R 1@ ? missing place (?) in the following
_series ?
P.UR?2TQVO letter-series * {
; P URZ. T, Q, V,0
a W 1 Jiykey 12y : S
b) X af W
) b) X
iy ¢) S
dy d) Y
e) ST & I TEl e) None of these
54. =it MACHINE =t foreft 2 stror & 54. It MACHINE is coded as 19-7-9-14-
19-7-9-14-15-20-11 ferar siar & a3« 15-20-11 in a code language,
Fe o § DANGER =1 foran smam DANGER will be written, in the same
i EEAERRE Ia)n %ageéoa?a 122
a - - - - -
10-7-20-13-11-24
o) 12 ; ig 1? 10 25 10-7-20-13-11-24
g) 18aRERa kst ¢) 18-7-20-11-10-25
d) Fe-ci-Ti-0as d) 13-7-21-11-9-24
e) ¥ & IS e e) None of these
CGP-15-02 * Page No. 18 Set-



frfafe g W senia v (559 60 7)

w1 I AN |

g S, T, U, V, W, X, Y fori we gfaet
Weh Sehie <1 Uk SIS UhIS-02 © (ATaveeh Tl
for st wr H 1) | 3 Tsft 3re-stem Sed G,
rererat, R, T, A7, R S s 3
(SRATEIT AT =Tel) T © |

S e T 2 ofe e e 21 V S
TEAT & SRR St 1 T A R | et
TEATRIT THER 2 | Y TS This~ee § MR =8
o1 gEETs # e T ® | W TGk gehie & AT TR
BT R | X 9= T © foheg MR R B 1
U et # e 3 '

55, V = g99E 1 ¢ 7

Answer the questions (55 to 60) based
on the following information :

Sevenpersons S, T, U, V, W, X, Y live in

_ different cities Ranchi, Kolkata, Bangalore,

Raipur, Chennai, Mumbai and Bhopal
(not necessarily in the same order). Out of
them one is a doctor, one engineer, a male
singer, a female singer, one professor, a
lawyer and a Chartered Accountant (not
necessarily in the same order).

S is a female singer and lives in Ranchi.
V lives in Bangalore and he is neither doctor
nor singer. One who resides in Kolkata, is
a professor. Y is Chartered Accountant and
lives neither-in Chennai nor in Mumbai.
W is a lawyer residing in Raipur. X lives in
Chennai and he is not a Singer. U lives in
Mumbeai.

55. What is the profession of V ?

a) TEH a) Singer
b) TS TS~ b) Chartered Accountant
C) SSIHA gy Engineer
d) Freifa ==& fom s gekar d) Can not be determined
e) Y ¥ @IS el e) None of these
56. WIHEHH & ? 56. Who is the Professor ?
a)T @T
'b) U b) U
c)V c)V
d) X d) X
e) ™ ¥ I3 &l e) None of these
CGP-15-02+ | ' PageNo.19 Set-A
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57. Fofafega d s Sy d war 2 7 57. Who among the fo!loWing lives in
a) T Bhopal ?
b) Y a T
o
L c) YorT
d) W | _ d) W
e) T & &S & e) None of these
58. et M 3 7 _ 58. Who is the Doctor ?
a) T AT
b) U b) U
o)V . o)V
d) Y . N Y
e) S8 4 1S &l e) None of these
59. efdet FeEl T © 7 59. Where does the Doctor live ?
"a) H,Tas‘ § ' é) Mumbai
b) ¥uTA b) Bhopal
c) ¥ | \t;)ﬁf)hennal
d) STEn _ | d) Bangalore
e) Sﬂﬁﬁ 13 T e) None of these
0. P i smum A m @ | 60, Which of the following pairs of
gHEEI AR R T profession and place is not correct ?
@) iR - U k; a) Female singer — Ranchi
b) WIHER ~ Shictehd b) Professor — Kolkata
c) dehled - TEAYL | c) Lawyer — Raipur
d) SfaT - e | . Moctor— Bhopal
e) T ¥ &g e : e) None of these
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- Tafaiiad w1 (61 & 66) ¥ ueds § vs uv | Each of the following problems (61 to 66)
A1 G HIAH 1 qGTF 2 B | onve) Fivly o 2 has a question and two statements S1 and
e L i % fo S2. You have to decide whether the

| 10 TR i S statements S1 and S2 are sufficient or not

| AT & A1 A | 3 fored g to answer the question. Your choice will be
| A1) T STRI S9 1 IR Shered & 1 9 e A1) If you get the answer from S1 alone
| 2 g et & 2 & Y firera | but not from S2 alone.

| A2) afe STt sre o1 e et a5 2 & rera A2) If you get the answer from S2 alone

Rt but not from S1 alone.
& forrg oharet o 1 & i e |
: ' P A3) Ifyou getthe answer from S1 and S2
A3) fg T9h! SR T IWE 1 TATF 2 &) together although neither statement
% WA 4 fuorar @ s@fE w8 oft g in itself is sufficient to answer the
A I H I A F e gate @ ) Qugstion.
: ke . A4) If S1alone is sufficient in itself and
A4) 3f I fae & 1 31 3 H e S2 alone is sufficient in itself to get
RAAF 2 Y94 319 § gaied 2 | - the answer.
AS5) afq HAT9eh] 99 ] I F 1 a1 & 2 ol A5) "I you do not get the answer from
¥ v & oft 79 s o 3 i & S1 and S2 together and some more
information is required to get the
o e wiferen e ) snavasaT £ | i
61. 30w &t 71y fraft 2 7 61. Whatis the age of Umesh ?
F1: Wes 9 9gT © 3 ISl B S1: Mahendra is 3 years younger
% 2. g 37 Tz 34T§@{ aefl 3 to his sister.
i ' S2: Age of Umesh is half the age
a) of Mahendra .
~b) A3 a) A2
c) A4 b) A3
d) A5 %g
e) 94 | w1 e ' e) None of these
62. i e A1 U g =7 8§ fawfem 62. Is a three digit number divisible by 8 ?
TR 7 S1: Digit in the unit's place is
F1: ga;[g ‘a:l T a‘.ﬁ H@ngrg % T greater than the digIt in the
'ﬁm@ﬁ%i . ten's place.
: ' S2: This number is divisible b
2 uE WA 2 34 8 fawifoia g 2 ) zandi | 4
b) A3 b) A3
& a1 o
Al
e) U 4 T3 .:{_Eﬁ | ' e) None of these
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63.

64.

65.

1} T SA%S FT R 7
% 1 : o & o 20 A, 2

% 2: i iUk e 5 AL 7
a) Al

b) A2

c) A3

d) A5

e) T § IS e

fereft e o B0 % fore =g wferera

sard 7 |

% 1 : gfier =1 wlien § 25% 37 fied &
3 g 1 200 o7 firet @ &
gfir o o1 & 40 aifems &

& 2 : g i, 301 8 o foTe 3TTeeeh

R ] § 64 376k ohA et &

a) A1
b) A2
c) A3
d) A4
e) T8 & g &l

R fd Rt ® 7
% 1: w1100 fh. A Aghed R &
o T R '

& 2 : I gRI a4 foRa T st A A
120 fop.#f. 2

63.

64.

65.

What is the area of the square ?
S1: Perimeter of the square is 20 cm.

S2: One side of the square is 5 cm.
ay/At |

b) A2

c) A3

d) A5

é) None of these

What is the minimum percentage to
pass some examination ?

S1: Suneel obtained 25% marks in
the examination and Sudheer
obtained 200 marks which are
40 more than marks of Suneel.

S2: Suneel obtained 64 marks less
than minimum passing marks.
a) Al
b) A2

L

d) A4
e) None of these

What is the speed of car ?

S1: Car covers 100 kms in 2%
hours.

S2: Car travels a total distance of

| 120 kms.
a) A2 a) A2
b) A1 %1
¢) A3 c) A3
d) A5 d) A5
) T8 ¥ =g e _ e) None of these
CGP-15-02* Page No. 22 Set-A
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66 e fefi i 4 st ush s QT 7 66. In how many days 4 men will
%1 2 3 oft 3 wfiem 9e =W 8 complete some work ?
e g e E S1: 2 men and 3 women complete
EZ:G-W'%HW#S%&W the work in 8 days.
CRE i S2: 6 men complete the work in
5 days.
a) A2
QA2 -
p) A1 b) Af
c) A3 c) A3
d) A4 d) A4
e) S & HiE TE e) None of these
67. 16 @Rl sl Uk ufed o Fgm &I s 67. Kusum’s position from left side of a
IR g = ReosE s 9w 3 ity line con.sisting of 16 girls, becomes
T o st B e 2 ) o % 2R 8" when she was displaced 2
f@tﬁﬁﬁ“ﬁﬁﬁrﬁ{, RerepTe S & e, positions towards left. Kusum’s
TR position, from right side of the line,
J N before displacement, was
e N
b) gth
c) 7 di | Q)/-;th
. d 5 Eil d) 5th
e) sI9 ° w13 A8l e) None of these
68. A, B, C, D, E u= =ufag & Rraiy fedhi 88. A,B,C,D, E are five persons who
Q& H 3TAT- AT 376 U e | B Y obtained different marks in some
el C § s1fres 3iek Wit e | D aor E test. B obtained more marks than C
I¥ae A 0 7o T PR | 9 only. D and E obtained marks less
S e ey 4 ; than A only. Who obtained the
rminimum marks ?
a) D a) D
b) E b) E
c) B c) B
d) 3iehg AT d) Insufficient data
e) 3 ¥ #13 e e) None of inese _
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fopferaa g # forelt o # =m fafim o=l

A 2 & A guEm wEl Y foeh & o1
(gl #) feuw m ¥ |
wuTER | TeRAT | gfEmn | gREE | v

A 120 75 82 225

B 105 80 78 220

'3 25 30 | 38 48

D 55 45 40 55

B 80 53 52 85

éaqmﬁa:wwq(ﬁrﬁr%ﬁéﬁuﬁr (69 @ 73)
o1 I AT |

69. afirham feghl ATl &1 EHTE -3 o fershl |

T TR B
a) 15,000
b) 16,000
c) 17,000
d) 19,000
e) T @ #I3 T

70. e e 3R T v forshl arel FHER
wai ohY foreh o1 ST B
a) 64x 103
b) 361 x 10°
c) 65x 108
d) 342 x 103
e) T U g A8

71. GHER YF E &1 ToRYgH 3R meagest d
feraon =1 o7OTE ©
a) 17:16
b) 16:17
c) 21:44
d) 44 : 21
e) T ¥ 13 el

Below is given a table showing circulation
of Hindi daily newspapers in 4 different

states in a year. Numbers are in thousands.

Newspaper|Rajasthan| Haryana|Jharkhand ;q;‘ég:
A 120 75 a2 pons
B 105 | 80 78 220
C 25 30 38 48
D 65 45 40 55
E 80 53 52 85

Answer the following questions (69t0 73)

based on the above table :

69. Differemce of sales of two newspapers
having maximum circulation (sale) is
a) 15,000
b) 16,000
c) 17,000
d) 19,000
e) None of these

70. Difference of sales of newspapers
having maximum and minimum -
sales is
a) 64 x 108
b) 361 x 103
c) 65x 108
q) 342 x 10°

e) None of these

71. Ratio of circulation of the
newspaper E in Rajasthan and
Madhya Pradesh is
a) 17:16
by16:17
c) 21:44
d) 44:21
e) None of these
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TR T A gergey 7 T, aerEm o

72. Sale of newspaperAin Madhyé Pradesh

D i e § fsh i x UF“ TR xF AR is x times the sale of newspaper D in
Haryana, then value of x is
a)5
5
b) 4.5 2
b) 4.5
c) 4 &) 4
d) 35 d) 35
e) T ¥ =S 7 &Y None of these
73. GHMER T 6 ged sAftes fusht o @ 73. Ratio (upto two places of decimals)
TSt # guTER-uE S feht # e of the sales of newspapers having
(23 o <1 TJT O) B maximum sales in two states is
a) 1.02 a) 1.02
b) 1.36 b) 1.36
c) 1.40 c) 1.40
d) 1.60 d) 1.60
e) T 4 WIS el &) None of these
74, S oinTen & el & ¥ vt Wl i 74. Alithe vowels are removed from
f.\{*|(-1 ﬁtﬂ ST % | a‘[aﬁ'[a%gl{ aiai’[ﬁ the English alphabets. Hemaining
e B A . T  Forar s 21 Ialphabgts are arranged once in
- increasing order and once in
e 1er forweh feufa St s6al o, wh & decreasing order. The letter
T T EN, 98 B (alphabet) whose position remains
the same in both increasing and
a) L : : :
decreasing order is
b) M a) L
c)P b; I'l;d
c
d) Q . 9 Q
e) T § WIS 78l ey None of these
75. URH, G 1 & GrAlaT % WIS A AR | 75. Saurabh is the son of the brother of
Hhw, JT 8 fore yehR warfe § 7 Sunitha who is the sister of Suresh.
a) T ' How is Saurabh related to Suresh ?
b) e T g a) Son
b) Son of uncle
c) e
it c) Nephew
d) g Q/Son or Nephew
e) T § 1§ Fel e) None of these
Page No. 25
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76. o =l A ) 3 12 e e, f
oT§ S qga 16 Hiet ue | 3qF a8
TRt T TR geat 12 HieX =@ | 31 =
Ao e v @ foeg feam & qen
forafi @ d ?
a) ufsm, 16 ot
b) I, 40 T,
c) @, 16 .
d) ufvem, 40 #H
e) $ ¥ IS gl

e e 1 AR TR o TR W, afEr §
fore 3 fafyrr wal & =a o formeor fiferg
ga-faz # et w2 ‘

A - It &Y e W e

B : #err =1 fortrn

C : forsrefl 30 wrft =7

D : 9TeH, A% 3N TEEE W
E : 9iSH W = |

Wé@nﬁ?ﬂﬁrsomﬁwﬁaﬁhﬁaw
T € | & WAl % 39 A |

76. A person moves 12 meters towards
south, then turning to left, moves
16 meters. After that he again turns
to his left and moves 12 meters. In
which direction and how far is the
person from his initial position ?
a) West, 16 meters
b) East, 40 meters
¢) East, 16 meters
d) West, 40 meters
e) None of these

The following Pie chart shows the

expenditure of a family on different
items based on its monthly income.

Where

A . Expenditure on education of
children

B : House rent

C: Expenditure on electricity and
- water

D Expenditure on vehicle, telephone
and maintenance

E : Expenditure on food

Question numbers 77 to 80 are based
on the chart given above. Answer these
guestions. .

CGP.-15-02 %
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77. afs fosiet R ot w =5 %, 800/- 8 4
s T e s A 7
a) ¥. 5,500/-
b) %. 5,600/-
¢) %.5,800/-
d) ¥.6,000/-
e) 1 ¥ I e

78. e sl ) fven w =@ 5. 20,000/~ &
1 WehH o1 TRt fera @ 7
~a) %.4,000/-
b) %. 4,400/-
c) . 4,500/-
d) %. 4,800/
@) FH A PR

76, R v siften ot el o o el
. WE W IRRE. 17,500/~ 8 6 TRER
o et R ? '

77.

78.

79.

If expenditure on electricity and
water is Rs. 800, then how much is
the expenditure on food ?

a) Rs. 5,500/-
byRs. 5,600/

c¢) Rs. 5,800/-

d) Rs. 6,000/-

e) None of these

If expenditure on education of
children is Rs. 20,000/- what is the
house rent ? '

a) Rs. 4,000/-

b) Rs. 4,400/-

c) Rs. 4,500/-

d) Rs. 4,800/-

gl one of these

If Rs. 17,500 /- be the difference of
expenditure on items having
maximum and minimum
expenditure, then what is the

a) ¥.40,000/- income of the family ?
b) ¥. 45,000/- a) Rs. 40,000/-
¢) %. 50,000/~ b; I':S- 42'332; ;
c) Rs. 50, "
d) ¥. 55,000/- d) Rs. 55,000/-
e) ¥ & ¥ T ©)None of these
80. wad Aftyeh =49 arell 1 wel i g 80. Ratio of expenditure of two items
1 59 arell df 5el % = & I 2 having maximum expenditure and
. \o expenditure of three items having
a) 3:1 minimum expenditure is
b)1:3 ~ ( a‘~ )
c) 3:2 \7“ b) 1:3
c)3:2
d) 2:3 d2:3
e) T A Hﬂ%qﬁ _ e) None of these
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81. Fam wum A qfd Frfafes & @ fred 86.

|

Frefirfia 4 20 oz wwferh £ 7

=i 1 Al & 7 i) frat
RECiRi ”; i;“
1
s M |
_ a) i, ii T4 iii -
o) b) i, ii @ iv
a) Y ¢) i, iii @ iv
g d) i T iv 1
. | e e) i, i, i td iv :J
a) =l 87. weiad iw w2 7 |
b) forest a) W ¥ e A N
¢) S b) = 3 e |
d) 38 c) BT ¥
e) T d) 388 & 2 @
. of e % FR @
83. FUEHH IR ?
a) TH 88. ‘Sl uTE ST Eraw A R |
b) S a) RF 9&T AT
c) 33 b) &1 w& ST
e) T & =1 7 d) sr=a faa s
e) G 3= FHI
84. ‘&% WTS3 I WG G HT R 7 ‘ . |
R p— 89. Wﬁmwmm%? _
) <o }-
C) e o) wH
gy EE e
G)WT'Q‘ e) |
86, W %1 RIS 00. ‘e fora @ ¥ w1 whtad) A A |
a) TR a) 797 forga fes '
oy gt b) e Rl |
¢) T fm frma et !
d) TR d) & fore st @ |
e) g e) &n fawar :.
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el 3 et w6 e e W d

o1. 96, ‘wews W i wHrg R 7
FAMR? a) FHUE
a) Tmeh b) f&
b) e c) sgsiife
c) ATHY d) 55
d) s e) dege
By T 97. ‘FIN I wg T @
92. aArT foaft =1 forrra g wife fafr & e R |
SIEE a) aftraras
&L ) 3 ki
b) TEqEt S
¢) wiarf o) SRAr.
d) 3Ty €) FrHaT
e) et 98. | a1 e % v B9 % g0 3@
g “d o b, Sogh e oty
a) & T 61 TR e dod Bl B | el g
Of T I 6 g S A 2 b)
C) 3% TS B g% § | .
d) 30 T T & g § | o Frs
e)?ﬁﬁﬁﬁ‘a‘?ﬁ"fl e)g_qr:rm
94. i fopam 99. ‘st i @fY feRe 2
a) IR ST WIAT R | a) R + IR '
bf =g @i 2 | b) a7t + IR
C) STeTeh el WTaT R | Y5 + 3R
d) =% ari vl 2 ) d) arfe + =R
e) T & FIF T | e) T q Fé 7
95. = T % Bl B | 100. qfgn v ®
of d a) gwt
b) WX b) =
c). <t c) TR
d) = & e ()
e) U e)ﬁﬁﬁféq?ﬁ
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